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The %reindeer's Christmaths Quuz

In his Christmas cracker, Comet was pleased to find a new set of red snook-
er balls. There were 15 of them arranged in a triangle formation. ‘Well, 15
is a triangle number after all’, he thought. He placed them on the table
ready for his next game against Santa. Whilst he was waiting for Santa to
finish trimming his beard, he began to play around with the red snooker
balls.

What is the minimum number of snook-
er balls that he would have to move in
order to make the triangle point in the
opposite direction?
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